
Hike Electric
Height Adjustable

A S S E M B L Y  I N S T R U C T I O N S

 

FOR MISSING PARTS OR QUESTIONS, PLEASE CALL CUSTOMER SERVICE AT 888-705-0777.

Number of People

2

Assembly Time

15 Minutes

Assemble on a
Soft or Carpeted 

Surface

This table can only be used with the electric control system provided. 
To operate, this product must be powered on.

All personnel responsible for the installation and maintenance of this table 
should read the instructions carefully.

1 www.specialt.net888.705.0777 



Hike Electric
Height Adjustable

W A R N I N G S

Transportation
Please handle with care and avoid products falling.

Assembly Using Hike

■ Not authorized persons (children with limited 		
	 knowledge of potential hazards, people affected 		
	 by drugs, etc.) should not use, clean, or maintain 		
	 equipment without supervision

■ Don’t sit or stand on the table

■ Power the table off first, then go under it to fix the 		
	 tabletop or clean it

■ Avoid injury caused by collision with table corners

■ The table should not be used in obstructed areas, 		
	 such as under window edges, cabinets, etc.

■ Please use the table over 2” away from the wall

■ When resetting the table, please remove everything 		
	 under the table, such as the chair and cabinet

■ Please adjust the table’s height to the lowest and 		
	 remove everything on the tabletop before moving 		
	 the table

■ Children should not play with this table as a toy

■ After one (1) week of use, check that the screws 		
	 remain correctly tight

■ Before first use, make sure all parts are correctly 		
	 assembled and connected

! !
■ 	Check package contents for completeness or 		
	 damage before assembly

■ Check the product appearance and wire for obvious 	
	 damage, and do not install or operate products if 		
	 they are damaged

■ Make sure the product not to connect Hike to a 		
	 power source during assembly

■ 	Ensure that there are no unnecessary obstacles 		
	 near the assembly area

■ Ensure that personnel with limited knowledge to 		
	 respond to hazards are not involved in the assembly 	
	 process

■ Children cannot participate in the assembly process 	
	 to avoid accidentally swallowing the installation 		
	 parts

■ Do not immerse any components in any liquid, and 		
	 clean only with a dry or slightly damp cloth

■ Do not place any wires under a continuous heating 		
	 source

■ Be careful not to trip over the wires and to prevent 		
	 entanglement (between wires and wires, between 		
	 wires and people)

■ Please be careful to avoid electric shock when 		
	 plugging in

Handle carefully and do not drop the box that contains the table parts.

2 www.specialt.net888.705.0777 



Hike Electric
Height Adjustable

T E C H N I C A L  S P E C I F I C A T I O N S  &  P A R T S

Hike Technical Specifications

MODEL Hike-24  |  Hike-30

TOP DIMENSIONS 48” -72”

HEIGHT RANGE 27.3” - 46.7”

RATED LOAD 1000 N

STANDARD COLOR Black  |  Silver

MAXIMUM SPEED 28 mm/s

NUMBER OF MOTORS 2

WEIGHT 28 Kg

NOISE < 50 dB

DUTY CYCLE
S2 -20 min of continuous 
work for most 2 minutes 
in a period of 20 minutes

WORKING ENVIRONMENT Indoor

Parts Included

M6*14 
Machine Screw

(8)

M6*10 
Machine Screw

(4)

ST5*20 
Wood Screw

(27)

M6*16 
Wood Screw

(2)

PDQ 
Cable Clip

(5)

Cable Clip

(27)

4mm Allen 
Wrench

(1)

Power Cord

(1)

1.3m Cable

(1)

Classic VT Frame

(1)

Adjustable 
Stiffener

(1)

Foot
(2)

Column
(2)

Handset
(1)

Control Box
(1)

Tabletop
(1)

Optional

3 www.specialt.net888.705.0777 



Hike Electric
Height Adjustable

A S S E M B L Y  S T E P S

01 02

M6*10 
Machine Screw

(4)

4mm Allen 
Wrench

03 04

4mm Allen 
Wrench

M6*14 
Machine Screw

(8)

Column
(4)

Classic 
VT Frame

(2)

Foot
(2)

Column
(4)

Tabletop

Adjustable 
Stiffener

4 www.specialt.net888.705.0777 



Hike Electric
Height Adjustable

A S S E M B L Y  S T E P S

05 06

ST5*20 
Wood Screw

(27)

M6*16 
Wood Screw

(2)
Screwdriver

ASSEMBLED HIKE TABLE

Control Box

Handset

PDQ Cable Clip
(5)

5 www.specialt.net888.705.0777 



Hike Electric
Height Adjustable

I N S T R U C T I O N S

! ■ Make sure no obstacles are in the table’s path.
■ Make sure the table does not touch any walls.
■ Ensure all cords are of appropriate length to accommodate the change in height.

Use

IMPORTANT: You must RESET the table before use.

RESET PROCEDURE: Press and hold the DOWN button on the handset (part 7) until the table reaches its lowest height. 
Release the DOWN button. Press and hold the DOWN button again until the LED display reads “RST” or about 10 sec-
onds on non-LED handset models. Release the DOWN button. Press and hold the DOWN button again until the table 
lowers slightly, rises, and stops. Release the DOWN button. Your table is now ready to use.

The user can adjust the table base by pressing and holding the UP or DOWN button until the desired height is reached.

To program up to four presets (on some models), Use the up/down buttons to find a desired height, then press “M” fol-
lowed by a number 1 - 4.

CAUTION: Once a preset button is pushed, the table will move to the programmed height (see caution box above).

Trouble Shooting

If your table is not functioning correctly, it may need to be reset. Follow the RESET procedure outlined in the USE section.

If your table has a handset with an LED readout that displays “RST”(reset), perform the reset procedure outlined in the 
USE section.

If the LED readout displays an error message (“Er 1” - “Er 13”), confirm that all wired connections are secure (legs to 
cables, cables to control box). Then, perform the reset procedure outlined in the USE section.

If the error message persists after the reset procedure, contact your seller.

If the height between the legs exceeds 1.5 inches, stop the reset procedure & contact your seller.

If the handset displays “HOT,” let the base cool down for 20 minutes.

Programming

Press the DOWN button on the handset (part 7) until the base reaches its lowest position. Press and hold the DOWN 
button again until the LED display reads “RST. “

Press and hold the 1 button (about 5 seconds) while the LED flashes “RST” and then switches to either:
10.1= One-Touch
10.2= Constant-Touch
Release the 1 button. Press the 1 button again until the desired setting is reached. Once the chosen setting is displayed, 
release the button and wait about 5 seconds for the display to return to “RST.”

Finish the reset process by pressing and holding the DOWN button until the table lowers slightly, rises, and stops. 
Release the button. The new program setting is saved, and your table is now ready to use.

6 www.specialt.net888.705.0777 



Hike Electric
Height Adjustable

I N S T R U C T I O N S

Setting the LED Retracted Height

This base is designed to go to its minimum and maximum heights, allowing for the widest possible range. If you prefer to 
change the settings to a more narrow range, follow these steps:

Make sure the power is ON and a number reads in the LED display (if no number appears, please follow the Reset 
procedure described in the USE section).

To Set the Upper-Limit Position:
Use the UP/DOWN buttons to move the base to the desired maximum-height position. Press the “M” button and release. 
Press the UP button and release. The LED display will flash “S-” Press and hold the button (about 2 seconds) until the LED 
display changes to “999”. The display will automatically return to the selected height. The new upper limit is now set.

To Set the Lower-Limit Position:
Use the UP/DOWN buttons to move the base to the desired minimum-height position. Press the “M’ button and release. 
Press the DOWN button and release. The LED display will flash “S-” Press and hold the “M” button (about 2 seconds) until 
the LED display changes to “000”. The display will automatically return to the selected height. The new lower limit is now set.

To Remove the Upper/Lower Limit Positions:
Press and hold the “M” button until the LED display flashes “S -” and then release it. Within 5 seconds, press the “M” 
button again and hold for 2 seconds. The LED display will change to “555” and then automatically return to the height 
display. The upper and lower limits are now removed.

	 RESET procedure requires the table base to retract (beyond any lower limit set) fully
	 Please ensure that you have the proper clearance below the table base.

After the upper and lower limits are set, the previous memory positions (1, 2, 3, 4) may be outside the new range of 
movement. If so, reset the memory positions.

If you attempt to revise a previously set upper or lower limit and it is outside of the existing range, you will need to remove 
the previously set
upper/lower limits first.

(Some Models)

Press the DOWN button on the handset (part 7) until the base reaches its lowest position. Measure the distance from 
the floor to the top surface of the tabletop. If the number on the LED display does NOT match your measurement, follow 
these steps:

■ Press and hold the DOWN button until the LED display reads “RST.” Press and hold the “M” button (about 5 seconds) 
until the LED displays the flashing height. (If the display returns to “RST” before the next step is taken, repeat this step.) 
Use the UP/DOWN buttons to change the value of the starting height so that it matches your measurement. Wait about 5 
seconds and the display will return to “RST.”

■ Finish the reset process by pressing and holding the DOWN button again until the table lowers a little bit more, slightly 
rises and stops. Release the button. The new starting height value is saved, and your table is now ready to use.

Note: the LED display has a ±0.1 tolerance.

Setting the Upper and Lower Limits (Some Models)

!

7 www.specialt.net888.705.0777 



Hike Electric
Height Adjustable

I N S T R U C T I O N S

Handset Lock

Press the DOWN button on the handset (part 7) until the base reaches its lowest position. Press and hold the DOWN 
button again until the LED display reads “RST.”

Press and hold the 2 button (about 5 seconds) while the LED flashes “RST “and then switches to either:
10.3= cm
10.4= inches
Release the 2 button. Press and hold the 2 button again until the desired setting is reached. Once the chosen setting is 
displayed, release the button and wait about 5 seconds for the display to return to “RST.”

Finish the reset process by pressing and holding the DOWN button until the table lowers slightly, rises, and stops. 
Release the button. The new measurement setting is saved, and your table is now ready to use.

(Some Models)

To lock the handset:
Press and hold the “M” button (about 8 seconds) until the LED display switches to “S-” and then to “LOC”. Release the button.

To unlock the handset:
Press and hold the “M” button (about 8 seconds) until the LED switches from “LOC” to the height display. Release the button.

Changing Inches to Centimeters (Some Models)

Press the DOWN button on the handset (part 7) until the base reaches its lowest position. Press and hold the DOWN 
button again until the LED display reads “RST”.

Press and hold the UP button (about 5 seconds) while the LED flashes “RST” and then switches to either:
10.5= 10 kg. pressure (most sensitive)
10.6= 15 kg pressure (middle setting)
10.7= 20 kg pressure (least sensitive)
Release the UP button. Press and hold the UP button again until the desired setting is reached. Once the chosen setting 
is displayed, release the button and wait about 5 seconds for the display to return to “RST.”

Finish the reset process by pressing and holding the DOWN button until the table lowers slightly, rises, and stops. 
Release the button. The new anti-collision sensitivity setting is saved, and your table is now ready to use.

Changing Anti-Collision Sensitivity (Some Models)

8 www.specialt.net888.705.0777 


